Examples

These examples, which featured in the preprint medRxiv 2022.11.23.22282669, are used as tests in the Pv3Rs
R package and thus recorded here as developer documentation. The only significant difference between this
write-up and that of the preprint is reference to allelic assignments that are equivalent up to within-episode
genotype permutations. The notation is taken from the preprint. In addition, Roman numerals are used to
enumerate members of discrete spaces (a € A,p € P,g € G) over which we sum. Arabic numerals are used to

index rows and columns etc.
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Figure 1: Visual summary of the examples. We start in the simplest setting (examples 0.1 & 0.2). We then
add complexity in three separate directions: by increasing the number of markers (examples 0.3 & 0.4), by
increasing the number of recurrences (example 0.5 & 0.6), and by increasing the number of genotypes per
infection (examples 0.7 & 0.8), where the latter focuses on the computation of the probability of phased alleles
given an IBD partition, to better illustrate how cells are multiplied over. Our final example addresses the need
to phase, which can occur when there are multiple genotypes per infection and multiple markers typed (example
0.9).

0.1 Single heterologous marker

Observed and phased alleles Suppose a single allele is observed at a single marker, indexed by j, genotyped
in an enrolment infection, ¢ = 0, and single recurrent infection, ¢t = 1. Since we detect only one allele per infection
we assume there is only one genotype per infection, indexed by 4, and one way to phase the observed alleles,

e.g.,
J=1

()0 ()0
{T}

Relationship graphs To compute the posterior probability of the single recurrent state, s, being either a
relapse, L, reinfection, I, or recrudescence C, we sum over three graphs (g1, gi1, gir) of relationships between
parasite genotypes 1 and 2,
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Incident infection, t =0 Recurrence, t =1

stranger g1
——————— sibling -------1 gn
clonal — gin

IBD partitions For each relationship graph, we sum over two IBD partitions of genotypes 1 and 2 at the
single marker, p; = {{1}, {2}} and pi; = {{1,2}} that correspond to the following two IBD graphs.

Incident infection, t = 0 Recurrence, t =1

IBD FALSE P
IBD TRUE P

Likelihood As there is one way to phase the observed alleles and m = 1, P(y|s) = P(a|s) = P(a.1|s) where

L I C
L I C P1 puI 911, ‘(‘171/12’ 9611 3 1 0\ g
a GRAOAT) AN 0) = GAI@ o) ax < (g 2 TP </ 0 o) g
pu 1/3 0 1 giin
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P(p|g)VPEP,.gcG
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and

Pla.pr) = P({A}{1}) x PUT}{2}) = f(A)F(T).
P(a.i|pn) = P({4,T}{1,2}) = 0 because |{A,T}| # 1.

Posterior For a uniform prior on s, P(y) = 1/2f(A) f(T), such that P(s = L|y) = 1/3, P(s = I|y) = 2/3 and
P(s = Cly) = 0.

0.2 Single homologous marker

For y = ({A},{4})T and a uniform prior on s, P(y) = 1/2f(A)? + 1/2f(A), such that P(s = Lly) = 1/3,
P(s = Ily) = 25/ (A)(F(4) + 1)~ and B(s = Cly) = 2/3(f(4) + 1) following

L I C
L I C p1 P11 gll ’ ‘(11/12’ 9611 3 1 0\ g
a (RFAPHIRIA) FAP fA) = (AP @) e x (o 2 D) (/ 0 o) an
pu 1/3 0 1 giin
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0.3 Multiple partially heterologous markers

Observed and phased alleles In the simplest example a single allele is observed per marker genotyped in
an incident and single recurrent infection. Since we detect only one allele per infection we assume there is only
one genotype per infection and thus there is only one to phase the observed alleles, e.g.,

j=1 j=2 j=3 j=1 j=2 j=3
_({A4}y {T} {G}\ t=0 _( A T G\ i=1
y_({T} {1} {G})tl’ a_(T T G>i2'

Relationship graphs and IBD partitions We sum over the same three graphs of relationships between
genotypes and the same two IBD partitions as in example 0.1.



Likelihood The likelihood computation is similar to examples 0.1 & 0.2, but because there are multiple
markers, which are conditionally independent given the relationship graphs, a product over markers is taken
before summing over relationship graphs. In addition, alleles are indexed by j, since a given allele at one locus
might have a different frequency at another locus.

P(y|s)Vs € {L,I,C} =
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Posterior For a uniform prior on s,

B(y) = Vs [ (A1) F(T) [ (1) £ (Gs) (Vo (T) [ (Gs) + 5 (To) + D)(f(Ga) + 1) + [(T2)f(Ga))

such that
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0.4 Multiple exclusively homologous markers

When markers are homologous over infections, P(s = Cly) > 0. For example, if

j=1 j=2 j=3
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B(y) = oS (A1) £ (1) £(Gs) (o(F(Ar) + D(F(T5) + 1)(F(Gs) + 1) +4f (A1) f(T2) f(Gs) +4),



such that
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P(s =1ly) =

B(s = Cly) =

because

P(yls) = P(al|s)Vs € {L,I,C},
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0.5 More than one recurrence: partially heterologous markers

Observed and phased alleles In the simplest example a single allele is observed at one marker genotyped
in an incident infection ¢ = 0 and in ¢ = 1,2 recurrent infections. Since we detect only one allele per infection
we assume there is only one genotype per infection, s.t. y = a, e.g.,

{AN t=0 A\ i=1
y=<{T}>t1, a=<T>i2-
{T}) t=2 T) i=3



Relationship graphs and IBD partitions We sum over 12 relationship graphs, shown below in teal. For
each graph, we sum over five IBD partitions p; to py which can also be depicted as IBD graphs in grey.

pr = {{1}, {2}, {3}},
pu = {{1,2,3}},
pur = {{2,3},{2}},
Dbrv = {{1’2}’{3}}7
pv = {{1,3},{2}}.

g1 gvi

Q

X

gt ————

°

@ @

@@ = @@ @ o F—2—@)
@ D@
@

@ o D@ @ « O—@ @
O @ O« OEEORROE OEORROE

- — — -sibling- - — —

< -7 ;\\\\ —— clonal —— IBD TRUE ——
- gvi -— - gxiu stranger —— IBD FALSE




Likelihood Remembering that in linear algebra (CBA)T = (AT BTCT),

P(y|s)Vs € {L,I,C} x {L,1,C} =P(a|s)Vs € {L,1,C} x {L,1,C},
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Posterior For a uniform prior on s € {L,1,C}, P(a) = 223 f(A) f(T)* + 2 f(A) f(T) and
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0.6 More than one recurrence: exclusively homologous markers
If instead y = ({A}, {A},{A})T, P(y|s) = P(a|s), which for s = IT and s = CC
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0.7 Simple example for more than one genotype per infection

Observed and phased alleles In a simple example two and one alleles are observed at a single marker genotyped
in an incident and single recurrent infection, respectively. We assume the most parsimonious explanation of the data:
the number of genotypes in the first and second infections are two and one, respectively. There is no-longer a one-to-one

mapping between genotypes and infections over time. Instead, there are two possible allele assignments:

j=1 )
s (o



Since a1 and anr are equivalent up to a swap between the two genotypes in the first episode, we have s € {L,I,C} that
B(yls) = 2P(als).

Relationship graphs and IBD partitions There are nine relationship graphs (a subset of those in example 0.5
because clonal relationships within infections are disallowed) to sum over and five IBD partitions (the same as those in
example 0.5), corresponding to the same five IBD graphs as follows.
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Likelihood Remembering that in linear algebra (CBA)T = (ATBTC™),
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The prefactor of 2 corresponds to A consisting of an equivalence class of 2 allele assignments. Note that if the data for
the incident infection and the recurrence were reversed, e.g. if y;—o = {1’} and y:=1 = {A, T'}, the posterior probability of
recrudescence would be zero because recrudescences must have the same or fewer genotypes than the directly preceding
infection.

Posterior For a uniform prior on s € {L,I,C}, P(y) = %(%f(A)f(T)2 + %f(A)f(T)) and
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0.8 Simple zoomed-in example for six genotypes

Observed and phased alleles Suppose the observed alleles suggest there are n > 3 genotypes, e.g.,

i=1
i AN i=1

_ HAT,CH t=0 o g ’f;
(o) e g
tay /=2 T |i=5

A/ i=6

IBD partitions For n = 6, there are 203 IBD partitions in P. Three examples, depicted below as graphs, are:

p1 = {{{1747 6}7 {27 5}7 {3}}7
pi1 = {{17 2}’ {37 5}’ {47 6}}v
pur = {{1}, {2}, {3}, {4}, {5}, {6}}.

D1 P

IBD TRUE
IBD FALSE

P(a.1|pr) = P(a(1,4,6111{1,4,6}) x P(a(2,5311{2,5}) x P(as1[{3}),

f(A1) x f(T1) x f(Ch).

Pa.1|pu) = P(agi211{1,2}) x Plags5311{3,5}) x Plaga,e11/{4,6}),
=0x0x f(A1).

P(a.1pm) = P(an[{1}) x P(a21]{2}) x P(as1[{3}) x P(as1[{4}) x P(as1|{5}) x P(ae1|{6}),
= f(A)® x f(T)* x f(C).

0.9 Simple example involving phasing

Observed and phased alleles In a simple example two alleles are observed at two of three markers genotyped in
an incident infection, while one allele is observed per marker genotyped in a single recurrent infection. As in example 0.7,
we assume the most parsimonious explanation of the data: the number of genotypes in the first and second infections are



two and one, respectively. However, there are now two non-equivalent ways to phase allelic data into n = 3 genotypes,

j=1 j=2 j=3
_({aTy 1} {c.ay t=0
v=( )it

{ry {1y {C}

j=1 j=2 j=3 j=1 j=2 j=3

A T C N j=1,t=0 A T G\ j=1,t=0
a1—<T T G>j=2,t=0, aH—<T T C>j:2,t:0.

T T c ) j=31t=1 T T c /) j=31t=1

The total number of allele assignments is in fact |.A| = 4, which can be partitioned into two equivalence classes of two
allele assignments each; a; and arr are representatives of the two equivalence classes.

Relationship graphs and IBD partitions We sum over relationship graphs and IBD partitions in example 0.7.

Likelihood
Plyls = L) = 2 x & (2/(T0) f(T2)* F(Ca)+
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P(y|s = C) = 2 x i(gf(Trz) + 1)

where ¢ = f(A41)f(T1) f(T2) f(C3) f(G3). Note that the prefactor of 2 corresponds to the fact that each equiva-
lence class consists of two allele assignments.

The likelihood can be written as a summation over a; and ary:
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where, with differences between a; and ar; highlighted in blue,
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and where
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6a(3f(T2) +1) gvi Veaf (A1) f(Th) f(T2) (3f(T2) + 1) f(Cs) f(Gs) gvi
0 gviil 0 gviil
0 grx 0 gix
P(ar|lg)VgEG P(ar|lg)VgeEG
f(AL)F(Th)? f(T)? F(Cs)* £(Gs) ar
0 f(T)? J(C3)f(Gs) g
f(A) f(T) f(T)? 0 g
Uaf(Ar)f(Th)? La(f(Te)® + f(T2)?) 1/2f(C3)* f(G) grv
= column product Vo f(Ar) f(Th)? Vo(f(T2)? + f(T2)%)  12f(Cs)f(Gs)(f(Cs) +1) | gv
Vaf (A f(T)(f(T) +1)  12(f(T2)? + f(T2)?) 12f(Cs)? f(Gs) gvi
Yaf (A1) f(Th) Vaf(T2) (3f(T2) + 1) 1/af(Cs) f(Gs) gvir
0 2f(T2)(f(T2) + 1) Lf(Cs)f(G3) gvin
12f (A1) f(Th) 2f(T2)(f(T2) + 1) 0 grx
P(a1.jlg)Var.j€ar,9€9
p1 P pur piv PV
1 0 0 0 0 g1
0 0 0 0 1 gii a.q ag.o ai.s
o o0 1 0 0| gm FANFT)? [(T2)* f(C3)f(Ga)\ pr
20 0 o 0| giv 0 f(T2) 0 P
= column product ¢ [ 12 0 0 0 2] gv X FANF(T)  f(T2)? 0 i
2 0 1f 0 0 [ gvr 0 f(T2)? 0 pv
0 Ya Ya a4 1/af gvu 0 f(T2)? f(C3)f(Gs)/ pv
0 1) 0 0 2| gvin
0 Y2 o 1 0 0 grx P(a;.;|p)Vay.j€ar,pEP
P(p|g)VPEP,g€G
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and

f(T) f(T2)* f(C3) g1
0 gu
f(T3) grin
Vs f(Th) (f(T2)? + f(T2)) f(Cs) grv
¢ X Usf(Th)(f(T2)? + f(T2)) f(Cs) gv
Us(f(Th) + 1) (f(T2)? + f(T2)) (f(C3) + 1) | gvr
1/64(3]0(712) + 1) gvir
0 gvii
s(f(T2) + 1) gix
P(alg)VgeG
arr
AN () f(T2)? f(Cs) f(Gs) g
0 gn
FADf(T) f(T2)? £(Cs) f(Gs) g
Usf(A)f(T1)? (F(T2)® + f(T2)%) £(Cs)* f(Gs) grv
= Usf(AL)f(T1)? (f(T2)® + f(T2)?) £(C3)? f(G3) gv
Usf (AN F(T)(f(Th) + 1) (f(T2)® + f(T2)?) f(C3) f(Gs) (f(Cs) +1) | gvi
Vea(f(A1) f(T0) f(T2) (3f(T2) + 1) f(Cs) f(G3) gvu
0 gviil
s f(A) f(T) f(T2)(f(T2) + 1) f(Cs) f(G3) gix
P(ajrlg)vgeg
FA)f(Th)? f(T)? f(C3)*f(Gs) a1
0 f(T)? 0 g
F(A)f(Th) f(T)? f(C3)f(Gs) g
Laf (Ar)f(Th)? La(f(To)® + f(T2)?) 1/2f(C3)* f(Gs3) grv
= column product L2f (A1) f(Th)? Vo(f(T2)? + f(T2)?) 12f(Cs)? f(Gs) gv
af(AD)F(T)(Tr4+1)  Y2(f(T2)® + f(T2)?)  1/2f(Cs)f(Gs)(f(Cs)+1) | gvr
Yaf (A1) f(Th) Vaf(To) (3f(T2) + 1) 1/af(C3) f(Gs) gvir
0 of(Te)(f(T2) +1) 0 gvII
12f (A1) f(Th) 2f(T2)(f(T2) + 1) 12f(Cs)f(G3) gix
P(arr.;lg)Vair.;€ar,g€G
y s P piin piv  pv
1 0 0 0 0 g1
0 0 0 0 1 g ai.g ar.o a3
0 0 1 0 0 | gm FANF(T)? f(T2)? f(C3)?f(Gs)\ P
1/2 0 0 1/2 0 giv 0 f(Tz) 0 P11
= column product [ 12 0 0 0 12| gv X FAADNF(T)  f(T2)? f(C3)f(Gs) | pu
0 1 0 0 | gwvi 0 f(T»)? 0 prv
0 Ya Ya s af gvn 0 f(T)? 0 pv
0 1/2 0 0 1/2 gviil
0 e 0 0/ gix P(arr.;|p)Varr. ;€arr,pEP
P(plg)VPEP,gEG
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